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GRAVITY pulls down on the coaster cars keeping the riders in and pulls the cars down the loop the loop.





The carriage is pulled up by a motor 





The potential energy is converted into kinetic energy (moving energy) making the rollercoaster fly and zoom.





The coaster cars have full potential energy (stored energy) at the top of its first hill. 





HOW DOES A ROLLERCOASTER WORK? After you have watched the bbc bitesize video, read the text boxed and match them up to the correct diagram. 








